Name:

Date:

Teacher:

Class:

Multiplication 608

Multiply these numbers.

§ Itis easy to be brave from a safe distance. - Aesop, Greek
writer, the moral from the fable "'The Wolf and the Kid'

L 9x0= 6. 9gx1-= S 1x11= 6. 10 x 2=
2. 1><O: 27. 7)(3: 52. 3XO: 77. 2x7 =
3 6x9= 8. 10x9 = %3 10%x0= B 2x11=
4 3x10= 29. 1 x9= 5. 3x6 = 79. 4 x4 =
> 1x7= 0. 9x4= % 9 x12= 80. 2x5=
6 3 x1= 3. 1x4= %6 1x10= 8. 3x5=
o6 xT7= 32 10x 3= 5. 9 x5= 82 5 x6=
8 2x8= B 2x6= 8. 1x2= 8. 10 x 12 =
> 10x4= ¥ 8x3= 9. 8x10= 8. 10 x 6 =
10 2x1= 3B 8 x12= 60. 9 x 3= 8. 4x2=
t 8x0= 3% 6x0= 61. 7 x5= 8. 7 x11=
12. 5x8= 3. 4 x1 = 62. §x 1= 87. 8§ x5 =
Bo6x1l= 38 10x5= 63. 1 x8-= 8. 2 x2=
14 6 x6= 3. 7x9= 64. 1 x5 = 89. 9x Q=
1 4 x8= 40. 10 x 10 = 65. 8x8= 0. 5x0=
10 2x3= 44 x11 = 6. 10 x 8 = 0L 9 x10=
1 5x9= 2. 6x11= 67. 1x1= 2. 7x1=
1 7x0= 3. 3x4= 68. 9 x 6= % 9gx11=
19 2x12= 4. 5 x5= 69. 1 x3= 9. 7x10=
20. 4 x3= 45. 3 x 8= 0. 6x10 = 9%. 8x4=
2L 3 x3= 46. 4 x5 = L7 x2= %. 4 x10 =
22 5x3= AT 4 x12 = 2. 10%x7 = 97. 10 x 11 =
23. 5 x7= 48. 3 x 2= 3. 4 x6= B 1x6=
24. 5 x1]1 = 49. 2 x Q= 74 8 x 2= 9. 8x6=
25. 8 x 11 = 50. §x 12 = 5. 3 x7 = 100. 2 x 10 =
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Answer Key Date:

Teacher: Class:

Multiplication 608

Multiply these numbers.

§ Itis easy to be brave from a safe distance. - Aesop, Greek
writer, the moral from the fable "'The Wolf and the Kid'

1L 9x0=0 6. 9x1=9 5. 1x11=11 76 10x2= 20

2. 1x0=0 21. 7 x3=21 2. 3x0=0 mno2x7=14

3 6x9=54 8. 10x9=90 5 10x0=0 8 2x11= 22

4 3x10= 30 2. 1x9=9 4. 3x6=18 9. 4Ax4=16

S 1x7=7 0. 9x4= 36 5. 9x12=108 8. 2x5=10

6. 3x1=3 3. 1 x4=4 %6. 1 x10= 10 8. 3x5=15

7 6x7=42 3. 10x3=30 5 9x5=45 8. 5x6= 230

8 2x8=16 3. 2x6= 12 88. 1x2=2 83. 10 x 12 = 120
% 10x4=40 3 8x3=24 5. 8x10=80 & 10x6= 60

10 2x1=2 3. 8x12=96 6. 9x3= 27 8 4x2=8

1. 8x0=0 3. 6x0=0 61 7x5= 35 86. 7 x11= 77

12 5x8=40 3. 4x1=4 62 5x1=5 87. 8x5=40

2 6x1=6 ® 10x5=50 6 1x8=8 B8 2x2=4

4. §x6=136 3 7x9=63 6 1x5=5 8. 9x9=8
15 4x8=32 4 10x10= 100 6 8x8=64 % 5x0=0

6. 2x3=6 4 4x11=44 5 10x8=80 °L 9x10=90
7. 5x9=45 4 @x11=66 6 1x1=1 2 7x1=7

8. 7x0=0 4 3x4=12  ® 9x6=54 %8 9x11=99
190 2x12=24 4 5x5=25 6 1x3=3 9% 7x10= 70

2. 4x3=12 4 3x8=24 T §x10=60 % 8x4=32
2. 3x3=9 6. 4 x5= 20 . 7x2=14 %. 4 x10= 40

22 5x3=15 A7 4x12=48 72 10x7=70 9 10x11= 110
2. 5x7=35 48 3x2=6 3. 4Ax6=24 %8 1x6=6

24 5x11=55 4 2x9=18 4. 8x2=16 9. 8x6= 48

2 8x11=88 5. 5x12=60 5 3x7=21 100. 2 x 10 = 20
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